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Bl 2=(As), ¥l 2 FBe), &Frw(AD, Zw(Ca), vt1vwMg)
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- A4 iy : Pb, Ca 27 FFA FE A (=7 ~ -15%)
As 5 87 FEoA = F7} 2 ~ 62%)
- Ad F€ il NI F 5 FEeAA v= A (<12 ~ -65%)

As & 671 FEoIM = F7F (6 ~ 117%)

- J(Pb)2 0.0061pg/m = 374 7]=0.5pe/m)Y 1.2% =
- AFe)& 0.2385ug/m &2 127 &2 = 713 =& =52 e
- Fe(0.2385) > Ca(0.0846) > Mg(0.0797) > Al(0.0437) > Mn(0.0342) > Cu(0.0064) >

PDb(0.0061) > Ni(0.0028) > Cr(0.0020) > As(0.0017) > Cd(0.0004) > Be(0.0000)

(SH2 =g/ m?)

T = PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al

5t 15 10.0014|0.0042 | 0.0004 | 0.0013 | 0.0057 [ 0.1068 | 0.0005 | 0.0610 | 0.0000 | 0.0779 | 0.0034 | 0.0309

A 16 | 0.0016|0.0079 | 0.0006 | 0.0040 | 0.0278 | 0.2808 | 0.0044 | 0.0809 | 0.0000| 0.1139|0.0101 | 0.0363

ap
Y

Of 16 |0.0022 | 0.0063 [0.0003 | 0.0031 [ 0.0692 [ 0.3280|0.0010 | 0.0971 | 0.0000 | 0.0620 | 0.0057 | 0.0640

gz 15 |0.0017|0.0061 | 0.0004 | 0.0028 | 0.0342 | 0.2385 | 0.0020 | 0.0797 | 0.0000 | 0.0846 | 0.0064 | 0.0437

H = 17 10.0011|0.0066 | 0.0004 | 0.0022 |0.0343 {0.2174|0.0019|0.0587 | 0.0000 | 0.0996 | 0.0056 | 0.0369

2 sE 16 | 0.0008 | 0.0052 [ 0.0003 | 0.0051 |0.0439{0.3119|0.0056 | 0.0709 | 0.0000 | 0.0965 | 0.006 |0.0364

62% | -7% | 15% | 28% 0% 10% 2% 36% 0% | -15% | 14% | 19%

o
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1M17% | 18% | 46% | -45% | -22% | -24% | -65% | 12% 0% | -12% | 6% 20%
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e IL —  Iuf m=i I'i 0o NN ||I II- III .
As Pb C€d Ni Cr Be Cu Mn Fe Mg Ca Al

s EirE) wHEH(eEE) HESE (21 78)

- AY e - PbA AL % A (=2 ~ -6%)
As 5 970 FENA v= 27} (1 ~ 135%)
- Ad 59 gl Cre BE g (=56%)

ASE 97 FEA =& =7} (47 ~ 1300%)



T e PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al

T & 15 ]0.0014|0.0042 | 0.0004 | 0.0013 | 0.0057 {0.1068 | 0.0005 | 0.0610 | 0.0000 | 0.0779 | 0.0034 | 0.0309
H oA 16 | 0.0006 | 0.0045 | 0.0002 | 0.0008 | 0.0055 [ 0.0902 | 0.0003 | 0.0382 | 0.0000|0.0770|0.0019|0.0316
HAsd 14 | 0.0001 | 0.0017 | 0.0001 | 0.0009 | 0.0028 | 0.0506 | 0.0012 | 0.0237 | 0.0000 | 0.0499 | 0.0000 | 0.0192

o

ch | - 135% | 6% | 75% | 66% | 3% | 18% | 54% | 60% | 0% 1% | 73% | -2%
Erak=
%) | ©4
g - |1300%| 146% | 320% | 47% | 102% | 111% | -56% | 158% | 0% | 56% | 0.00 | 61%
CHH|

O BHE ZH&

- IPb)& 0.0079ug/m = 37 71 Z0.5e/m)2] 1.6% 432
- d(Fe)2 0.2808ug/ni =2 127) &5 F 71 =& w55 UEY
(-

- A€ oy] - Cad} Al 27 IFHLS FE A 7 ~ -15%)
As 5 9N FEFA 5 F7} (18 ~ 83%)
- Ad 54 ol Mg Al 27) 8 F= A4 (3~ -14%)
As & 87 @&FoA FE ST} (9 ~ 235%)
(hl:ug/m*)
T & PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
2 ¥ 16 |0.00160.0079 | 0.0006 | 0.0040 | 0.0278 | 0.2808 | 0.0044 | 0.0809 | 0.0000 | 0.1139|0.0101 | 0.0363
o€ 19 |0.0009 | 0.0067 | 0.0004 | 0.0024 | 0.0203 | 0.2065 | 0.0026 | 0.0575 | 0.0000 | 0.1344 | 0.0070 | 0.0390
HAsd 14 | 00008 | 00069 | 0.0003 | 0.0027 | 0.0177 | 02582 | 0.0031 | 0.0936 | 0.0000 | 0.1138 | 0.0030 | 0.0374
E_:;EJ' - | 83% | 18% | 58% | 68% | 37% | 36% | 67% | 41% | 0% | -15% | 45% | -7%
saE
%) | ©d
E%H—;%J' - | 105% | 15% | 87% | 47% | 57% | 9% | 41% | -14% | 0% | 0% | 235% | -3%

- F(Pbh)S 0.0063ug/m = A7) 20.5ue/n)e] 1.3% FF2)
- A(Fe)= 03280ug/m§ 127 3% = M =8 252 YUY
- A oy T 5 BFANAN T Ha (-1 ~ -47%)



d 59 oH] ;- As B 47 RN = Z7} O ~ 77%)
Pb & 77 &EoAH F= i (-8 ~ -43%)

(SH g/ m*)

PM-10| As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

16 |0.0022|0.0063 | 0.0003 | 0.0031|0.0692|0.3280|0.0010 | 0.0971 | 0.0000 | 0.0620 | 0.0057 | 0.0640

15 10.0019{0.0089 | 0.0006 | 0.0028 | 0.0832 [ 0.3220 | 0.0003 | 0.0839 | 0.0000 | 0.0627 | 0.0060 | 0.0429

25 | 00020 | 0.0082 | 0.0005 | 0.0034 | 0.0983 | 0.3612 | 0.0018 | 0.0858 | 0.0000 | 0.0685 | 0.0032 | 0.0441

o | - 13% | -29% | -47% | 10% | -17% | 2% | 274% | 16% 0% 1% | -6% | 49%

- 9% | -23% | -34% | -8% | -30% | -9% | -43% | 13% 0% | -10% | 77% | 45%

Op




_1 A2 X1l Hiul
O Hat, 2443}

- Mn2 B A ]

A A= H|
- 6 =
W, UeA gEe 27EEe
(Eh2l g/ m*)
T = Pb cd Cr Cu Mn Fe Ni Al Ca Mg As Be
Z'e | 0.0066 | 0.0004 | 0.0019 | 0.0056 | 0.0343 | 0.2174 | 0.0022 | 0.0369 | 0.0996 | 0.0587 | 0.0011 | 0.0000
o E

(22.6) 4 10.0164 | 0.0010 | 0.0026 | 0.0106 | 0.0171 | 0.2454 | 0.0025 | 0.0499 | 0.1572 | 0.1006 | 0.0054 | 0.0000
24+ {0.0247 | 0.0018 | 0.0010 | 0.0108 | 0.0270 | 0.2615 | 0.0022 | 0.0523 | 0.1860 | 0.1492 | 0.0043 | 0.0000




[

b
2 A 1] ZADIZ = I 8- mzan: =34 =3 2 1am 13
O =A71zF : 2022. 7. 11. ~ 7. 15.
(EARLE B
(F9 : mm)
. " ol ol Z2% 3
Al ol ol ol
T = 7| Al 1€LX} | 2UK} | 3UXF | 4¥UK} | 5UKL o a Zpaey
o
Stea NS 40.1 0.0 0.0 0.7 0.0 3¢ 8.1
HMS oA 19.8 0.0 0.0 0.1 0.0 3¢ 3.0
=2U45 P! 19.8 0.0 0.0 0.1 0.0 3¢ 3.0
oIF& A 20.7 0.0 0.0 0.1 0.0 2 1.8
KEAHAE HAd7|2D
(¢9] : )
T = 1LX | 2¥€XF | 3¥LXF | 4¥€XF | 5UX} P k| Ha
Stea 25.6 25.7 24.5 279 27.7 24.5 27.9 26.3
HMES 25.4 26.0 24.8 29.2 28.5 24.8 29.2 26.7
SUE 25.1 25.6 24.4 28.7 279 24.4 28.7 26.3
otF & 24.5 245 24.1 27.7 26.8 24.1 27.7 255
(EAHLE 5>
(39 : %)
T = 1LX} | 29X | 3¥UXF | 42X} | 5UKL P k| Ha
Stsa 16.7 16.4 18.0 20.0 176 16.4 20.0 17.7
HM S 1.5 1.3 1.0 1.1 1.1 1.0 15 1.2
U5 16.9 16.3 19.2 20.1 18.0 16.3 20.1 18.1
OtF & 15.4 15.5 17.7 17.9 16.3 15.4 17.9 16.6
(EARLE F5D
(&$] : m/s)
T 1L Xt 22U X} 3K} 4L Xt 5 X} ES P | E | oz
Stea 16.7 16.4 18.0 20.0 17.6 16.4 20.0 17.7
HMES 1.5 1.3 1.0 1.1 1.1 1.0 1.5 1.2
S4E 16.9 16.3 19.2 20.1 18.0 16.3 20.1 18.1
otF & 15.4 15.5 17.7 17.9 16.3 15.4 17.9 16.6
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